Geometry



9.1 - 9.4 Quiz



Name:

1. Find the length of the leg of this right triangle. Give an approximation to 3 decimal places.
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[A] 8.307
[B] 7.681


[C] 8.628
[D] 16.401

2. A set of Pythagorean triples is  _____.


[A] 1, 1, 2


[B] 5, 12, 13   


[C] 6, 9, 12

3. If the side lengths of a triangle are 7, 6, and 9, the triangle _____.


[A] is an acute triangle


[B] is a right triangle


[C] cannot be formed


[D] is an obtuse triangle

4.  Simplify:  
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D. 
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5.  Write 
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in simplest form.   A.  
[image: image7.wmf]4

7



B.  
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Find the value of each variable.
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6.  x=______  y=______

7.  x=______  y=______

8.  x=______  y=______
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9.  x=______  y=______
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EXTRA CREDIT:

A telephone pole breaks and falls as shown.

To the nearest foot, what was the original height of the pole?
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